A Number skills: Mental calculation
Calculate by splitting the numbers into useful parts:
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Number apphcatlons Rates

1 TFind the rate af which these tanks empty in litres per hour if each empties in 3 1 hours.

The tanks contain:

“(a) 1200L () 380L (c) 580L (d} 6300L

(e} 5200L (H 840L () 3800L (hy 94000L
(i) 12000L () 15000L

2 A steam train travels at 12 km/h. How long will it take to travel:
(a) 144km (b) 78km (¢) 66km {d) 15kms
{e) 27km (f) 88km () 2lkm () 8lkm
() 14% km () 64 km

Algehra: Variation

1 The distance travelled (d m) by a missile varies directly with time of flight ¢ s). If the
missile travels 2400 m in 12 s, then find: )

(a) 'The formula which connects the distance with the time of flight.
(b) The distance travelled in 210 seconds.
(c) The time taken fo travel 3800 metres.

.2 'The time taken {f ) to travel a journey varies inversely with the speed of travel
(v m/s). If it takes 12 seconds to complete a journey travelling at 6 m/s, find:

(a) The formula which relates the time of travel to the speed.
(b) The tirne taken for the journey if the speed is increased to 36 mys,

ndices Solving Indlcal equations

" Solve these for x!

© (a) =216 (b) »#=81 - (© F©=32

(d) £2=225 (e) F*=64

- Solve these to 2 décimal places by using the remove the power method:
(@ #=3 . (b) x*=182 (0 =1

@ £=2 (&) ¥'=3 :

arteslan plane; Finding the distance between two points

ii}e distance between these points using the graph construction method: .
(0,0)and (3, 5) -2 (1, and (@, 9 3 (4,-2)and(2,4)
(<2, 3) and (2, -3) 5 (6,-3)and(-4,3) '
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Answers to worksheets
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